Leclt §6.2 Inverce gubstidutom.

—_

\

due 4]

huq 'F’w—cl'\w W‘?('oJ c[rDPS Not wav((

N C—
\IX L X

|7ﬁl'
_ A X
,le-—z»(-e\ —\
g AX
J(X-n’"—l
du . u= X-I Th makos e
nleqnl T & SIMPLER Jovie
wWr_(> 0

How o cawn e &Ju_:

l[ef u= sec@ du= —\,de‘; gmé_,\g
US> w ne-| S co’6
Wi = secf -1l = {-a;O
VR 5'['0\1\1(9 = (tanb l
l Sinb
gﬂ“ = & = db &%ecedo
Wi |fun 6 | cos6
l
du I Sl:llb
: = Y Jé: —_— tin
Cow  Tomb20 g\fuT—l T )t b Cos6 Q\,\lr—ecg-% )|+C
Cu>t) et
Lo/t emovize +his.



Uwa@:]F_l = O] uehm |

C_Od;g tan b <O; g% _ __S :l _—_Q/MIS-ﬂ@-G'('WQI—(C
( Nzsec@ <—I) v

:-L‘u-t‘ﬁl + C

—Sec "'(M@-W
A\ — _’()Mlv\' ‘ﬁ/\T—l_\ + C

S(V\(Q w,\sza.

o oS |
= b=l

= QMW“F_' ’ Lolwt du

_(/t~(|

( lﬁ+ﬁf( \
uw- e Ul

o fu for |+

» Mnothor methed . Cosp/\, sl +onl,
Yo,/

v =X /JU .
Cose\(mz e :Q 2| T

sindioqr = ¥ _g* con e ol yelR

2

SIV\‘A(X\ 20 i %®29¢
sphty <o F x<o



'v'l\(Y) -Xx
wh = 2 _ ex_e
tn o oo "f‘mb\(x)\ < |
2 2
cosh™x— Sinh x =|
Slhx}x = QOSL\Z\C —1
Cosln/(x) - 5-.\,\1,\(»()
Siuh ¥ = cosh oo
W{askﬂ
)
-
d 4 1> / i
= u
CX o e
. | . w= CosL ) dun= sinh 6 db
Cose | - = Sinh6d0 P
wy \ Sinh'6 i mLs*n‘uLw Can CONEr on_ly uzl'
_ sinh b dp Choase 6 z0.
g \'sink 6! Ths still coves ol U7
fo 020 —
= S S(V\l\od& /s'mbéZO. \Al—l: (O)LZQ—|T g‘Iv‘\,\l@.
sTwh 6
= (do = 6+C
= whmwy + ¢
(e v <- . chooe U= -cah @ 6=20 Olw—__s.,«l\(sib
Then 1hic  covevs A V‘é_\_
g v _ &,s—mu@aa — Tw 020
[ sTahé s1nh6 70 Uz —cosh

= ‘&‘” 226 ¢ C = —cosh bW +C



e Ra\%mﬁ Funchm¢ o  sm, o)

iyl
€y S
[+ cosB+45ng
s
Tecl'mwlwz | X Tan —@ == L\QB- ¢ Ie EX =t L
|

<X
036 @i - sm8 _ ‘ X ="
- [+X2 2
Sinb= 2 cosEeinb T e
Mz, L X 2x
JTHx 14?2 T [ +x2
dx=(tu, 6146 = r 6
awZJAG_ S e¢ = - :AG ~
= ? |
(1 %) 46
de = —=—;x b
[+x* . S E— — 01MT
ﬁ—/l there
ave 1k ot
QO’ V&A_‘OV\AQ -F\M(hw! olé 7£\AV\L4(W! of X
ch C()j@/ {Ihé
of X
So g d 6 |
= 2
\*cosb+s7n 6 g ',_T; ox
+T)<‘+m" I+X2

g 24X
[+x>4 |-x24 27

— | -+
& | 4 x - QM\—H(l C

= (Ol I—f-'tan—?_l + C







